[image: image1.png]36. Arecent study by the Greater Los Angeles Taxi Drivers Association showed that the mean
fare charged for service from Hermosa Beach to the Los Angeles International Airport is
$18.00 and the standard deviation is $3.50. We select a sample of 15 fares.

a. What is the likelihood that the sample mean is between $17.00 and $20.00?
b. What must you assume to make the above calculation?




[image: image2.png]10. The following hypotheses are given.

Ho: m = .40
Hyim # .40

A sample of 120 observations revealed that p = .30. At the .05 significance level, can the

null hypothesis be rejected?

a. State the decision rule.

b. Compute the value of the test statistic.

©. What is your decision regarding the null hypothesis?

Note: It is recommended that you use the five-step hypothesis-testing procedure in solving the
following problems.




[image: image3.png]24. The liquid chlorine added to swimming pools to combat algae has a relatively short shelf life
before it loses ts effectiveness. Records indicate that the mean sheff life of a 5-gallon jug
of chlorine is 2,160 hours (90 days). As an experiment, Holdlonger was added to the chlo-
tine to find whether it would increase the shelf life. A sample of nine jugs of chlorine had
these shelf lives (in hours):

2170 2180 2179 2160 2167 2171 2181 2185

At the .025 level, has Holdlonger increased the shelf life of the chlorine? Estimate the p-
value.




[image: image4.png]38. Two boats, the Prada (ltaly) and the Oracle (U.S.A.), are competing for a spot in the upcom-
ing America’s Cup race. They race over a part of the course several times. Below are the
sample times in minutes. At the .05 significance level, can we conclude that there is a dif-
ference in their mean times?

Boat

Pradally) 129 125 110
LUSA) 141 141 142





[image: image5.png]18. According to an IRS study, it takes an average of 330 minutes for taxpayers to prepare,
copy, and electronically file a 1040 tax form. A consumer watchdog agency selects a ran-
dom sample of 40 taxpayers and finds the standard deviation of the tme to prepare, copy,
and electronically fle form 1040 is 80 minutes.
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What assumption or assumptions do you need to make about the shape of the
population?

. What is the standard error of the mean in this example?

What is the likelihood the sample mean is reater than 320 minutes?

L. What is the likelihood the sample mean is between 320 and 350 minutes?

What is the likelihood the sample mean is reater than 350 minutes?




